TITLE OF INFORMATION COLLECTION DOCUMENT

years, list as "1/6" & decimal will display.

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

13b; cols. H & K = 13c. National Management Information System - pg 1 of 4

ОМВ NO. 0579-0335

DATE PREPARED

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (J)Average (NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6

June 9, 2010

IDENTIF	CATION OF REPORTING OR RECORDICEPING REQUIREMENT					ANNU	AL BURDEN			
					REPORTS				RECORDS	
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. x J)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
426; 426b	Work Initiation Document for Wildlife Damage Management (individual)	12A/12A Addendum	2,560	1.0000	2,560.00	0.0590	151			0.00
426; 426b	Work Initiation Document for Wildlife Damage Management (Private Sector)	12A/12A Addendum	19,514	1.0000	19,514.00	0.0590	1,151			0.00
426; 426b	Work Initiation Document for Wildlife Damage Management (State, Local or Tribal Group)	12A/12A Addendum	4,578	1.0000	4,578.00	0.0590	270			0.00
426; 426b	Work Initiation Document for Wildlife Damage Management (Multiple Resource Owners) (individual)	12B/12B Addendum	35	1.0000	35.00	0.0380	1			0.00
426; 426b	Work Initiation Document for Wildlife Damage Management (Multiple Resource Owners) (Private Sector)	12B/12B Addendum	271	1.0000	271.00	0.0380	10			0.00
426; 426b	Work Initiation Document for Wildlife Damage Management (Multiple Resource Owners) (State, Local or Tribal Group)	12B/12B Addendum	63	1.0000	63.00	0.0380	2			0.00
426; 426b	Work Initiation Document for Wildlife Damage Management on Urban Properties (Indivual)	12C	1,089	1.0000	1,089.00	0.0210	23			0.00
426; 426b	Work Initiation Document for Wildlife Damage Management on Urban Properties (Private Sector)	12C	8,292	1.0000	8,292.00	0.0210	174			0.00
426; 426b	Work Initiation Document for Wildlife Damage Management on Urban Properties (State, Local or Tribal Group)	12C	1,950	1.0000	1,950.00	0.0210	41			0.00
426b; 426c	Pocatello Supply Depot Order Form (Individual)	17	62	1.0000	62.00	0.0650	4			0.00
	SUBTOTAL		38,414		38,414.00		1,828	0		0.00
	TOTAL OF ALL PAGES		89,902		91,066		4,165	0.00		0.00
TOTAL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c					91,066		4,165			

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

(K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE OF INFORMATION COLLECTION DOCUMENT

National Management Information System - pg 2 of 4

DATE PREPARED

June 9, 2010

IDENTIF	ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT									
				REPORTS						
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	RECORD- KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
(4)	(0)	(6)	(D)	RESPONDENT	(5)	(C)	an.	(1)	KEEPER	no.
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
426b; 426c	Pocatello Supply Depot Order Form (Private Sector)	17	475	1.0000	475.00	0.0650	31			0.00
426b; 426c	Pocatello Supply Depot Order Form (State, Local or Tribal Group)	17	111	1.0000	111.00	0.0650	7			0.00
426; 426b	Project Report (Individual)	14	19	1.0000	19.00	0.0440	1			0.00
426; 426b	Project Report (Private Sector)	14	138	1.0000	138.00	0.0440	6			0.00
426; 426b	Project Report (State, Local or Tribal Group)	14	31	1.0000	31.00	0.0440	1			0.00
426b	Control Materials Sales Records (Individual)	18	39	1.0000	39.00	0.0630	2			0.00
426b	Control Materials Sales Records (Private Sector)	18	293	1.0000	293.00	0.0630	18			0.00
426b	Control Materials Sales Records (State, Local or Tribal Group)	18	62	1.0000	62.00	0.0630	4			0.00
426; 426b	Wildlife Services Assistance Request (Individual)	30	17,678	1.0000	17,678.00	0.0350	619			0.00
426; 426b	Wildlife Services Assistance Request (Private Sector)	30	22,465	1.0000	22,465.00	0.0350	786			0.00
426; 426b	Wildlife Services Assistance Request (State, Local or Tribal Group)	30	6,418	1.0000	6,418.00	0.0350	225			0.00
	SUBTOTAL		47,729		47,729		1,701	0		0

TITLE OF INFORMATION COLLECTION DOCUMENT

(K)Total/(I)Total = (J)Average

years, list as "1/6" & decimal will display.

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6

National Management Information System pg. 3 of 4

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average

OMB NO. 0579-0335

DATE PREPARED

June 9, 2010

years, not as 170 & decennal win dispray.										June 9, 2010	
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT				ANNUAL BURDEN							
				REPORTS					RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(1)	KEEPER (J)	(K)	
426b; 522a		45	42	1.0000		0.0530	2			0.00	
426; 426b	Report of Injury or Death to Non-target Animals (Private Sector)	35	1	1.0000	1.00	0.3800	1			0.00	
426; 426b	Migratory Bird Damage Project Report (Individual)	37	464	1.0000	464.00	0.1300	60			0.00	
426; 426b	Migratory Bird Damage Project Report (Private Sector)	37	3,536	1.0000	3,536.00	0.1300	460			0.00	
426; 426b	Migratory Bird Damage Project Report (State, Local or Tribal Group)	37	829	1.0000	829.00	0.1300	108			0.00	
426	Nuisance Wildlife Permit (Louisiana) (Individual)	66	5	1.0000	5.00	0.0610	1			0.00	
426	Nuisance Wildlife Permit (Louisiana) (Private Sector)	66	37	1.0000	37.00	0.0610	2			0.00	
426	Nuisance Wildlife Permit (Louisiana) (State, Local or Tribal Group)	66	8	1.0000	8.00	0.0610	1			0.00	
426; 426b	Wildlife Services Abatement Program Assignment of U.S. Government Property (Private Sector)	68	1	1.0000	1.00	0.0195	0.02			0.00	
	SUBTOTAL		4,923		4,923		635	0		0	

Page 4 of 4

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and	TITLE OF INFORMATION COLLECTION DOCUMENT	OMB NO.	
recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.	National Management Information System pg. 4 of 4	0579-0335	
(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average			
(K)Total/(I)Total = (J)Average		DATE PREPARED	
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6			
years, list as "1/6" & decimal will display.		June 9, 2010	

IDENTIFI		ANNUAL BURDEN									
				REPORTS					RECORDS		
										TOTAL	
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-	
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS	
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)	
				RESPONDENT					KEEPER		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
	Cooperative Agreement Forms Family ** These figures were not added to the total	SF 424, 424A, 424b, SF LLL			0.00		0.00			0.00	
	Cleared under 4040-004	SF 424	89,902	1.0000	89,902.00	0.7500	67,426.50			0.00	
	Cleared under 0348-0044	SF 424a	89,902	1.0000	89,902.00	3.0000	269,706.00			0.00	
	Cleared under 0348-0040	SF 424B	89,902	1.0000	89,902.00	0.2500	22,475.50			0.00	
	Cleared under 0348-0046	SF LLL	89,902	1.0000	89,902.00	0.5000	44,951.00			0.00	
	SUBTOTAL										